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BACHELOR OF COMMERCE

(GENERAL) (CBCS)
(BCOMG)
Term-End Examination
December, 2023

BCOC-131 : FINANCIAL ACCOUNTING
Time : 3 Hours Maximum Marks : 100

Note : Attempt any five questions. Each question

carries 20 marks.

1.

(a)
(b)

State the objectives and significance of
setting Accounting Standards. 10
Explain the steps involved in the
Accounting process. 10

What are the different categories in which
accounting transactions can be classified ? Also
explain the ‘debit and credit rules’ in this
regard. 14+6

You are required to pass the necessary journal
entries to rectify the following errors : 20

(@)

% 200 withdrawn by the proprietor for his
personal use has been debited to Trade
Expenses Account.

P.T.O.



[2] BCOC-131

(11) ¥ 300 purchase of goods from Shyam has
been wrongly entered through the sales
book.

(111) ¥ 100 credit sales to Ram has been wrongly
passed through purchases book.

(av) T 150 received from Mittal have been
credited to Jindal.

(v) ¥ 375 paid on account of salary to the
cashier Raju stands debited to his personal
account.

(vi) A builder’s bill for extension of premises
amounting to ¥ 2,750 has been debited to
Building Repairs Account.

(vil) On 25th June, goods worth ¥ 500 were
returned by Krishna and were taken into
stock but the returns were entered is the
books under date 3rd July i. e. after the
expiry of the financial year on 30th June.

(viii) ¥ 200 bill for old office furniture sold to
Leela were entered in the sales day books.

(ix) The periodical total of the sales book was
cash short by T 100.

(x) T 80 received on account of interest was
credited to Commission Account.



(a)

(b)

(a)

(b)
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What 1s the difference between ‘Hire
Purchase System’ and ‘Instalment

Purchase System’ ? 10

Describe in detail the accounting
procedures to be adopted with regard to

Hire Purchase System. 10

Explain clearly about your understanding
In respect to the expression ‘Branch

Adjustment Account’. 10

State the possible causes of difference
between the balances shown by Head

Office Account and Branch Account. 10

Following is the Trial Balance of Sh. Man

Mohan. You are required to prepare Trading

and Profit & Loss Account for the year ended
31st March, 2020 and Balance Sheet as at that
date : 20

Dr.?) | Cr.QR)

Purchases and Sales 2,75,000 | 5,20,000
Returns inwards 15,000
Returns outwards 9,000

P.T.O.
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Carriages 12,400
Wage and Salaries 58,600
Trade Expenses 2,200
Rent 13,000
Insurance 2,000
Audit Fees 1,200
Debtors and Creditors 1,10,000 | 62,100
B/R and B/P 3,300 2,200
Printing and Advertising 5,500
Commaission 1,000
Opening Stock 36,000
Cash in hand 12,800
Cash at Bank 26,800
Bank Loan 20,000
Interest on Loan 1,500
Capital 2,50,000
Drawings 15,000
Fixed Assets 3,00,000

8,77,300 | 8,77,300

Adjustments :

(1) Stock at the end ¥ 60,000.
(1) Depreciate fixed assets by 10%.
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(i11) Commission earned but not received

amount to I 400.
(iv) Rent received in advance T 1,000.

(v) Allow 8% interest on capital and charge

T 900 as interest on drawings.

(a) What is loading ? How is it computed ?

Give examples. 2+3+3

(b) What is ‘Del-Credere Commission’ ? Who
pays this commission ? State the reasons

for payment of this commission. 3+3+6

Ashok and Bharat formed joint venture
contract for sharing profit and losses in 60%
and 40% ratio respectively. Ashok purchased
goods of T 3,00,000 and dispatched to Bharat.
Ashok paid T 24,000 in this process. Bharat,
after some time, reported the sales of ¥ 3,20,000
of these goods and remaining lying unsold.
Later Ashok and Bharat decided to dispatch the
goods on consignment basis to M/s. Chandan &
Co., who agreed to sell goods on their behalf.
Chandan will be paid all expenses plus 5%

P.T.O.



[6] BCOC-131

commission. After some time, Chandan sent an
Account sales along with cheque for T 35,000 to
Bharat (after deducting ¥ 5,000 expenses and
commission). The unsold goods were returned
to Bharat. Bharat purchased the goods for
< 20,000.

Bharat prepared a statement of account to
Ashok and informed that he spent ¥ 14,500 on
this joint venture. They agreed to settle their
accounts. Prepare the necessary ledger
accounts in the books of Ashok and Bharat

showing the final settlement of accounts. 20

Write explanatory notes on the following :
10+10
(a) Computerised Accounting

(b) Creation of voucher and recording entries
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1.

(%) ofEishd AME FUR & e T e

ERIERY 10
(@) @i Ufshen H IfHer =Xon &1 9
i) 10

@R Faerl &l T fafa= gforl o «fer <

TFdl & ? =9 gy ‘efde qur wfee el
&1 ot guiF wifSu) 14+6
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s frafafea emifsal & gur & fou
AETTH S qfafed] HifeT : 20

1)

(ii)

(iii)

(iv)

(v)

(vi)

3 200 @it 4 Afe@ g & faw
fertel fSaent wfafe =i =99 @ #
F G T

H 9 T 300 1 HA HI fwar st fm

et | foa =@t ° foran e
TH & T 100 w1 A IUR fosea fwan
T T e @ ®a 91 W faw fen
T

3 150 g & 9w gu feg fo=a &t
hige X fa |

@ T H A B 2 375 KU M faeg

39 Afed @ ° fog fgr )

T 9aq fmfa & 999 fomr & 2 2,750
& U & f9a &1 997 wWHd @d o
efae & fgar mm




(vii)

(viii)

(ix)

(x)

(1)

(<)

(1)

()
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25 S ®I HFEM G T 500 % A Hl
wie # wnia & faan e fhg 30 SE
% GO W ac o oW & 9|
U¥ET 3 [ATE ! ] oi@l TR T

3 200 % HEEA & HAEL hl ol Hl
=1 T AT 3HAT fafe faska 9§t H #
&t TE)

g fowa @&t @1 Sig T 100 I
Jhs ° HH 9= T

3 80 &N & Wi fhd fheg &HieE @

T wfge ot few M)

‘foruran e Ugid’ T fehvd YA ggid
T F S T 2 10
fRen g Ugfda &l AR & fauw
@i fafy &1 faar | 9o Fifsw)

!

10
‘IMET gETEISHE @l 9 39 R 9HEd

g ? T quiA it 10

& &A@l U I @ o
grifad T4 T I hifsg| 10
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6. off TR &1 doue = & TEr ®1 S’ 31

A, 2020 1 HET M Al 99 1 AT

Te Y-8 @ R SE i w1 fagr ey

20
gfae @) | ®fee )

%9 Td fa%a 2,75,000 | 5,20,000

SATeh aTqd] 15,000

ElECIEE) 9,000

gals 12,400

gl 3 A 58,600

AMIE I 2,200

[EXEI 13,000

Cigall 2,000

RE HI 1,200

e Te OHER 1,10,000 62,100

o foa wE 39 T 3,300 2,200

BUE 3R famo 5,500

HHEH 1,000

ORfteh i 36,000
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T UFhe 12,800
S H Thg 26,800
S O 20,000
EREIIE | 1,500
it 2,50,000
TR0 15,000
o Tt 3,00,000
8,77,300 | 8,77,300

HTITEﬁTrH'I'Q":

() a9 & 1 H Wi T 60,0001

(i) TR gEfaal W 10% B STl R

(iii) ¥ 400 HHYH & Iufsia T T fereg T
Tl gul

(iv) fFU & % 1,000 1MW 9 fou)

(v) Uofl W 8% AN oMY SR STEIU W
T 900 =S % TH B

(M AfeT 7= T ? THHT fHd YRR TUET HI
STt ® 2 Sgreeo s 2+3+3

(F) oy ®HYE F1 § ? I8 HUYE &N
M ® ? T HHNH & YEAH h BRI
ERIEY 3+3+6

P.T.O.
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8. 3V SR WA A WYH WEH H e fhar
AR ATE o AW & sied 1 SAE 60%
TS 40% A1l 3WNe 3 T 3,00,000 HT HA
TSR WA hl ASTl 3@ Ul W swmes A
3 24,000 KUl ®® ¥ & WO WA A
¥ 3,20,000 & T i okl fS@@ qen @t
o foer w0 Wi ¥ fe@mn @ e
IR R a3 HEH w=d Us FHEA I
3! WE ¥ WA d94  STMUR W ST qen
9€ I@ W TEHd B T F<A Hl TGP a5
gft @@= dur 5% FHYA A @ ww wwa
% ¥ 9=d & T 35000 % W6 D GIY
faga @ 991 (2 5,000 @9 WS HHPH Hled
% TeE) | fo fae @@ wa @ oaftE #
fean st f @ 3 2 20,000 o =
W A orEr foaeRu GUR fehan qen Steies il O
fean qen gfad fovan fv 2 14,500 §g @RH
W T A B A 3 @ IR & & forw
TEHd B M| AU WRd TH ATMb 1 YEIh! H
| @ 4R W g &I @ SR 20

9. frfafea w famr @ fewfoat fafew : 10+10
(31) FFE{iend T
(¥) a=R fmi T gfafie &
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